PED Answers

Calculations for HP3
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“To the et of the mid-point, L. at prices higher than $5 per uni, demand is relaively price clastic
20 aising prices simply reduces total revene. By contras, o the ight of the midpoint, i, at prices
below $5, demand becomes elatively price nclasic o reducing prices will only lower total revenu.

Award 1 mark for abrief answer that shows some understanding but without necessarlly referring to
the data.

Award 2 marks for a good understanding with some appropriate use o the data.
‘Award 3 marks for a lear understanding with appropriate use of the data.
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1.2 Elasticity
Price elasticity of demand (PED)

1 a m Sales revenue = Price x Quantity
= $4x200 = $800
Award 1 mark for the correct answer and 1 mark for showing the working out.
b = New price = $4 x 1.2 = $480
= PED is known to be -2.0. %
= Change in quanticy demanded: 2.0 = 3o
= New quantity demanded = 200 x 06 = 120
= New sales revenue = 120 x $4.80 = $576
Award 1 mark for the correct answer and up to 2 marks for showing the full working out.
< Sales revenue has fallen from $300 per day to $576. This is because the demand for its product is price
elastic (-2.0) so the 20% increase in price caused a greater proportional fll (40%) in the quantity
‘demanded. Thus,it was not a good decision for Juke Ltd. to increase its price.
Award 1 mark for a brief answer that shows some understanding.
Award 2 marks for a clear understanding of why it was not a good decision for the firm to raise its price.

2 a PED = 1 at the mid-point on a linear downwards-sloping demand curve.
Award 1 mark for correctly identifying the value of the PED.
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b 1 the price drops below $10total e will bl $6.000 810 x 600 unis), To the righe of
the midpoint, demand s pice inclaic, ol i price ks . proportionatly smalechans i
iy demanded Hene,toal evenue will ol

‘Award 1 mark for sating total revenue willall and up to 1 further mark for orrectly explaining why this i
the case.

3w PED=0,ic. s perfectly price inclasic.

' As price increasesfrom €15, to €25 to €40, the quantity demanded (sales revenue + unie price)
remains constan at 20 units.

slE|s

Note: Thediagram above s fo llstrative purposes only and i not required n the written answer.
‘Award up to 2 marks fo calulating the PED,€ incuding the correct working out.

Award upto 1 further mark for an appropriate commentary.

4 a PEDf the price increasesfrom $4 o §5

PED if the price increases from $10 to $11
= Q4= 400-25010) = 150
= Qdy=400-25(11) = 125

Award up to 2 marks for the correct answers (calulations) and up to 1 further mark for the working out.
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b Asthe price forthe good incresse,the PED also increases. Thisis because customers become more
responsive (sensitive) to changes in pice a theprie of the procuct ncreases.

‘Award 1 mark for appropriate use of the answer to Question &a and up to 1 further mark for explaning the

answer, .. PED increases in vlue as theprice o the product inaeases.

€ Asthe PED =1, this means a % drop i price will caus the quaniiey demanded to isc by 5%.

Unitary casicty resl n o change in th firm otal revenue.

‘Award 1 mark for a bref answer that shows some understanding.

‘Award 2 marks for aclearunderstanding of why unitary elasticity does nt result ina change in the firm's

total revenue.

Award up to 2 marks for corretly drawing and abelling the - and y-axis, using an appropriate scle.
‘Aviard another 1 mark for corretly plotting and labelling the demand curve.
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Award up to 2 marks for correctly drawing and abeling the x-and y-axis, using an appropriate scale.
‘Aviard another 1 mark for correctly plotting and labelling the total revene curve.
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